
This	decomposition	assumes	that	ActuatorLoop	control	parameters	are	likely	to	vary	between	actuators.

Actuator_control

Act1_pos

Act1_cmd

Act2_pos

Act2_cmd

Act3_pos

Act3_cmd

Actuator1

Actuator2

Actuator3

TypeConversion
Scaling

Scaling1
TypeConversion1 Actuaor1_loop

Actuator1	=	Actuator1_loop(Act1_pos,Act1_cmd)
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Actuaor2_loop

Actuator2	=	Actuator2_loop(Act2_pos,Act2_cmd)

Actuaor3_loop

Actuator3	=	Actuator3_loop(Act3_pos,Act3_cmd)
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Actuator3_loop_caller

Actuator_control

[Actuator1,Actuator2,Actuator3]	=	Actuator_control(Act1_pos,Act1_cmd,Act2_pos,Act2_cmd,Act3_pos,Act3_cmd)


